Matr.-Nr. Name:

Final Exam: Principles of Economics II (5005)
Examiner: Prof. Dr. Paqué, Dr. von Auer, Prof. Dr. Wolff
Term: Winter 2002/03

No aids permitted except for English language dictionaries without any marking.

There are 25 different exercises on this exam. Make sure that this copy of the exam is
complete and write your matriculation number and your name into the appropriate fields on
top of this page. Work on all 25 questions. Do not mark more than one possible answer
otherwise it is considered false. For every correct answer you obtain two points. For every
Jalse answer one point is subtracted. If no answer is marked you neither obtain nor loose a
point. In order to pass this exam you need at least 25 points.

1. A good indicator for the productive activities within a country is

a) the GDP deflator.
b)  nominal GDP divided by the GDP deflator.
¢) nominal GDP.

2. If the nominal interest rate is 1% and the rate of inflation equals 2% then the real interest

rate 1s
a) -1%.
b) 2%.
¢) 3%.

3. In the Malthusian growth model,

a)  the equilibrium occurs when output per worker exceeds the subsistence level.
b)  the population grows as long as output per worker is smaller than the subsistence
level.

D c) the population declines as long as output per worker is smaller than the
subsistence level.

4. According to the neoclassical growth model, a country with a low saving rate has in
equilibrium (steady state)

[ a)  alower capital stock per capita than

b)  ahigher capital stock per capita than

c)  the same capital stock per capita as

a country with a high saving rate.




5. According to the fundamental equation of growth accounting, if output grows by 5%,
labor by 4%, and capital by 2% and labor‘s growth gets 3 times the weight of capital’s
(where the weights sum up to one) then the contribution of technological change to output
growth is

a) 1.5 percentage points.
b) 2 percentage points.
¢) 3 percentage points.

6. If one abstracts from transactions in services, investment income, and unilateral transfers,
a country that exports more goods than it imports

a) has a negative trade balance.
b) is called a net creditor in the world financial market.
c) is called a net debtor in the world financial market.

7. If a country is a net debtor in the world financial market then the sum of its balance on
current account and balance on financial account is

a)  greater than zero.
b) less than zero.
¢) equalto zero.

8. The purchase of a German car from a German exporter paid for with cash by an US-
citizen

a) does not affect the current account of Germany.
b) does not affect the current account of the USA.
c) generates a deficit in the German financial account.

9. The purchase of a bond from the US-government paid for with cash by a German citizen

a) does not affect the current account of Germany.
b) generates a deficit in the financial account of the USA.
c) generates a deficit in the German financial account.

10. If the price of a bundle of tradable goods is $20 in America while €10 in Europe, then at
the current exchange rate of 2€/$ the

a)  euro is undervalued compared to its long-run value implied by PPP-theory.
b) euro is overvalued compared to its long-run value implied by PPP-theory.
c) value of the euro corresponds to its long-run value implied by PPP-theory.

11. According to PPP-theory, a country with a flexible exchange rate that faces a price level
decrease in the rest of the world relative to its own will see its currency

E a)  appreciating.
b) depreciating.
c) remaining at the politically desired level.




12.

The gold standard established a system of

a) fixed exchange rates.

b) flexible exchange rates.

13.

c) fixed but adjustable exchange rates.

In a system of fixed exchange rates the central bank must

a)  abstain from any intervention in the foreign exchange market.

b) sell foreign currency if there is excess supply of domestic currency.

¢) sell foreign currency if there is excess supply of foreign currency.

14.

The closed economy multiplier is

a)  smaller than the open economy multiplier.

b)  greater than the open economy multiplier.

c) as large as the open economy multiplier.

15.

Under a fixed exchange-rate system and perfect capital mobility,

a)  monetary policy is highly effective in raising domestic income.

b) fiscal policy is highly effective in raising domestic income.

¢) fiscal policy is ineffective in raising domestic income.

16.

Under a system of flexible exchange rates and perfect capital mobility, monetary
expansion at home leads to

a)  an increase of the foreign exchange reserves of the central bank.

b) adecrease of the foreign exchange reserves of the central bank.

c) adepreciation of the domestic currency.

17.

In an open economy net exports are equal to

a)  imports of goods minus exports of goods.

b) the difference between national saving and investment.

c) the government budget deficit.

18.

In a small open economy at full employment and with perfect capital mobility, a decrease

in government expenditures

a)  increases net exports.

b)  decreases net foreign investment.

c) raises the domestic interest rate.




19. In the short-run, the aggregate supply curve in a P-Y-diagram (P being on the vertical
axis) is

a)  vertical.
b) relatively flat.
c) relatively steep.

20. In a P-Y-diagram (P being on the vertical axis), the classical approach to aggregate supply
uses

a) avertical aggregate supply curve.
b)  ahorizontal aggregate supply curve.
¢) arelatively flat aggregate supply curve.

21. In a P-Y-diagram (P being on the vertical axis), an increase of the production costs

a) shifts the short-run aggregate supply curve upwards.
b)  shifts the short-run aggregate supply curve downwards.
¢) does not affect the position of the short-run aggregate supply curve.

22. A person who has no job and is permanently too ill to work is classified as

a) being unemployed.
b)  being employed.
c) being not in the labor force.

23. Cyclical unemployment occurs

a)  when due to a recession the overall demand for labor is low.
b)  when the demand for labor in certain sectors of the economy is low.
¢)  because of the incessant movement of people between regions and jobs.

24. The short-run Phillips curve implies that in the short-run, a one-time increase in the
money growth rate

a) increases the unemployment rate.
b) decreases real output.
c) increases the inflation rate.

25. The long-run Phillips curve implies that in the long-run, a constant rate of money growth

a) cannot affect the price level.
b) cannot affect real output.
¢) cannot affect nominal wages.




Multiple Choice — Solutions to Principles of Economics II (Winter term 2002/03)

1b 6b 11b 16¢c 2la
2a Tc 12 17b  22¢
3¢ 8¢ 13b 18a 23a
4a 9a 14b 19 24c
5a 10a 15b 20a 25b
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